Ratio to CMS

1000/c 2do)/d(m_1 + m_2) [1/GeV]

e
o O
N w

=
o

1072

[EEY

0.5

7000 GeV pp Jets
El T I T I T I I T | I I I I T | T I T I I T IE ﬂ
- 16
= Pruned Jet Mass(anti-kT(o.7), 2600<p_<800, |y|<2.5) =z
~ =
<
= =R
— = Al
_ 1=
= X HeA
=5 o
_ @
= 5=
= S
% N % ©
= AJQ
= 5™
— — 8
— ®m CMS =0
= - Pythia 6.428 346 - ;
= Pythia 6.428 347 =S
— Pythia 6.428 348 moc
= Pythia 6.428 349 Hc
— —A— Pythia 6.428 370 18
= —
= 50
— I Qa
I ] (@]
El | | | | | | | | | | ' | | | IE E
:l T T T T | T T T T | T T T I:
— —2
1
g i
— 4 0.5
| " 1 1 1 1 " | " 1 1 1 1 " | " . 1
0 100 200

(m_1+m_2)/2[GeV]



	Contents
	Page 1


